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	January/2019 Braindump2go 400-351 Exam Dumps with PDF and VCE New Updated Today! Following are some new
400-351 Real Exam Questions:]1.|2019 Latest 400-351 Exam Dumps (PDF & VCE) 502Q&As Download:

https://www.braindump2go.com/400-351.html2.|2019 Latest 400-351 Exam Questions & Answers Download:
https://drive.google.com/drive/folders/0B75b5xYLjSSNa0JFbF9Gd3ZBU1E?usp=sharingQUESTION 201Which three statements

about the high availability configuration on the Cisco 5760 WLCs are true? (Choose three.)A.    Cisco WLC with more reboots is

elected as active when the default stack priority is in use.B.    EtherChannel bundles all ports on both active and standby Cisco WLC

on a logical port.C.    Cisco 5760 WLC uses a dedicated high availability port for high availability and configuration

synchronization.D.    High availability switchover is triggered when one of the ports on the active Cisco WLC EtherChannel bundle

fails.E.    Active Cisco WLCs in a pair can be identified using LED state without issuing any command on the Cisco WLC console.

F.    Cisco WLC with the highest priority in a stack are elected as the active Cisco WLC during the election process.G.    All

configuration including certificates are automatically synced between active and standby Cisco WLC.Answer: BEFQUESTION

202Which statement about network automation and/or network orchestration is true?A.    Automation focuses on coordinating

multiple tasks at the same time.B.    Orchestration and automation focus on a single task at a time.C.    Orchestration focuses on

coordinating multiple tasks at the same time.D.    Automation and orchestration focus on coordinating multiple tasks at the same

time.Answer: CQUESTION 203When your wireless client device roams from one AP to another on the same network, which IEEE

protocol can be used to authenticate the clients faster?A.    802.11r also called Assisted RoamingB.    802.11k also called Assisted

RoamingC.    802.11r also called Fast BSS TransitionD.    802.11k also called Predictive Based RoamingE.    802.11r also called

Predictive Based RoamingF.    802.11k also called Fast BSS TransitionAnswer: CQUESTION 204VLAN Trunking Protocol is a

Cisco proprietary protocol that propagates the definition of VLANs over the local area network. Which two statements are

true?(Choose two.)A.    VTP requires access mode interfaces to propagate.B.    VTP requires trunk mode interfaces to propagate.C.   

VTP transparent mode forwards VTP packets and can act as a client or a server.D.    VTP config revision increases base on switch

uptime.E.    When Cisco switches are started from scratch, they are in server mode and their domain is set to null.Answer: BE
QUESTION 205You have configured VideoStream on a Cisco WLC and users are now viewing the company video broadcast over

the wireless network.How can you verify you have VideoStream configured and working in the Cisco WLC GUI?A.    The

Multicast Status shows "Normal Multicast" in the Multicast Group Details.B.    The Multicast Status shows "MediaStream Ongoing"

in the Client detail page.C.    The Multicast Status shows "Multicast-direct Allowed" in the Multicast Group Details.D.    The

Multicast Status shows "MediaStream Allowed" in the Multicast Group Details.Answer: CQUESTION 206Drag and Drop Question

Drag and drop the events involved in a typical location tracking workflow from the left into the correct order on the right. Not all

items are used. Answer:  QUESTION 207You are the network administrator of a Cisco Autonornous AP deployment. You want to

stop a client with MAC address 5057.a89e.b1f7 and IP address 10.0.0.2 from associating to your APs. Which configuration do you

use? Answer: DQUESTION 208You are the wireless administrator for ACME corporation. You must configure a Cisco Catalyst

3850 Series Switch to work as mobility agent to allow access point association to this switch. Which statement about this scenario is

true?A.    Access points must be connected to an access port that has the access VLAN configured to be the same as the service port

VLAN on the Catalyst 3850 switch.B.    Access points must be connected to a trunk port with the native VLAN set to 1 in order to

jointhe WLC on the Catalyst 3850 switch.C.    Access points must be connected to an access port with the access VLAN configured

to the same as the wireless management VLAN on the Catalyst 3850 switch.D.    Access points must be connected to an access port

that has the access VLAN configured to be the same as the management VLAN for the switch stack.E.    Access points mut be

connected to an access port with the access VLAN configured to be any VLAN that has a Layer 3 interface (SVI) on the Catalyst

3850 switch.Answer: CQUESTION 209Which major block is not included in the ETSI Network Function Virtualization reference

framework?A.    Network Function Virtualization Infrastructure.B.    Network Function Virutalization Management and

Orchestration.C.    Network Function Virtualization Policy Manager.D.    Virtualized Network Function/ Element Management

Systems.Answer: CQUESTION 210With the introduction of mDNS policies in AireOS release 8.0, the administrator can configure

to identify who uses the Bonjour service instances and in which location. Based on user 802.1x authentication. aAAA server/ISE can

be configured to return which two possible values in the form of a "CISCO-AV-PAIR"? (Choose two.)A.    Client-roleB.    User-role

C.    User-IDD.    Bonjour-profileE.    Client-locationAnswer: BDQUESTION 211Which statement about the integration of ISE

with Cisco Prime Infrastructure version 2.2 is true?A.    Cisco Prime Infrastructure can display ISE profiling attributes for

authenticated and un authenticated clients.B.    Cisco Prime Infrastructure can collect client authentication details from upto three
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configured ISE servers.C.    ISE can be added to Cisco Prime Infrastructure only using user credentials of admin user configured

locally on ISE.D.    When two instances of ISE are added to Cisco Prime Infrastructure. One must be working in secondary mode.

Answer: D!!!RECOMMEND!!!1.|2019 Latest 400-351 Exam Dumps (PDF & VCE) 502Q&As  Download:

https://www.braindump2go.com/400-351.html2.|2019 Latest 400-351 Study Guide Video: YouTube Video: 

YouTube.com/watch?v=hZZnd7gWQik

        Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com |  Page 2/2  |

http://www.mcitpdump.com/?p=9385
http://www.youtube.com/watch?v=hZZnd7gWQik
http://www.profprojects.com/?page=upm

